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1. Consider the following statements- 
   1.   Co-operative sector industries are owned and operated by the state and individuals or a group of 

 individuals. 
   2.   Anand Milk Union Limited and Sudha dairy are success stories of a co-operative venture. 
   Choose the correct statement using the given code- 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
2. Consider the following statements- 
   1.   Limestone is a non-metallic mineral found in sedimentary rock formations. 
   2.   Limestone is extracted through open-cast mining. 
   3.   Bihar, Jharkhand, MP, Chhattisgarh, Rajasthan are major limestone producing states. 
   Which of the above statements is/are correct? 
   (a) Only 1    (b) Only 3     (c) 1 and 3    (d) 1 , 2 and 3 
 
3. Consider the following Statements. 
   1.   Grasslands experience very low rainfall with short stunted trees and grasses. 
   2.   In dry areas with low rainfall plants have deep roots and leaves with a thorny and waxy surface. 
   3.   Tundra vegetation of cold polar regions consists of mosses and lichens. 
    Which of the above statements is/are correct? 
   (a) Only 2    (b) Only 3    (c) 1 and 3    (d) 1,2 and 3 
 
4. What does CITES stand for? 
   (a)  Convention on International trade in endangered species. 
   (b)  Convention on International Trade in Extinct species 
   (c)  Convention on International Trade in Endangered species of wild fauna and flora 
   (d)  Convention on International trade in Extinct species of wild fauna and flora. 
 
5. Which of the following are examples of non-ferrous minerals? 
   1.   Gold  2.   Chromite    3.   Copper    4.   Lead 
   Choose the correct code. 
   (a) 1, 3 and 4 (b) 1, 2 and 4    (c) 1, 2 and 3    (d) 1, 2, 3 and 4 
 
6. Which was the first country in the world to develop hydroelectricity? 
   (a) Switzerland (b) Norway    (c) France    (d) Finland 
 
7. Which of the following statements is/are ‘incorrect’ about Nuclear energy? 
   1.   It is a conventional source of energy. 
   2.   Nuclear fuels like Uranium and Thorium undergo ‘Nuclear Fusion’ and emit power. 
   3.   Thorium is found in large quantities in the Monozite sands of Rajasthan. 
   Choose the correct option. 
   (a) Only 1    (b) 1 and 3    (c) 1 and 2    (d) All are incorrect 
 
8. Choose the correct code matching List-I with List-II. 
   List-I (Nuclear Reactors)                List-II (States) 
   A. Kalpakkam                 1. Maharashtra 
   B. Tarapur                       2. Karnataka 
   C. Kaiga                          3. Tamil Nadu 
   D. Ranapratap Sagar       4. Rajasthan    
Code: 
   (a) 1-2-3-4  (b) 3-1-2-4  (c) 2-1-3-4    (d) 2-3-1-4 



 

9. Consider the following statements regarding Biogas- 
   1.   It is derived from organic waste such as dead plant and animal material. 
   2.   It is a mixture of methane and carbon dioxide. 
   3.   The organic waste is decomposed by fungi to emit biogas. 
   Which of the above statements is/are correct? 
   (a) 1 and 2    (b) Only 1    (c) Only 2    (d) 1 and 3 
10. Sustainable Development means 
   (a)  Focusing on maximum utilisation of resources 
   (b)  Balancing the use of resources in present and conserving them for future 
   (c)  Only Social Development 
   (d)  Only Economic Development 
 
11. ‘Golden Fibre’ refers to 
   (a) Tea    (b) Cotton    (c) Jute     (d) Coffee 
 
12. Which of the following crops require warm and wet climate, well-drained loamy soil and hill 

slopes? 
   (a) Jute    (b) Coffee    (c) Tea     (d) Maize 
 
13. Which of the following statements are correct about ‘Cotton Cultivation’? 
   1. It requires high temperature, light rainfall. 
   2. Frost-free days and bright sunshine is required. 
   3. Black and Alluvial soil are best suited for it. 
   Code: 
   (a) 1 and 2   (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
14. On 3 December 1984,’Bhopal Gas Tragedy’ happened due to the leakage of which gas? 
   (a) Ethyl Bromide      (b) Methyl Isocynate   (c) Ethyl Isocynate   (d) Methyl Bromide 
 
15. Which among the following industries are categorised as ‘Sunrise Industries’? 
   1. Information technology industry 
   2. Education related industry 
   3. Health related industry 
   Choose the correct option. 
   (a) 1 and 2   (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
16. Silicon Valley which is famous for information technology is located in 
  (a) Bengaluru  (b) Shanghai    (c) California    (d) Los Vegas 
 
17. Choose the correct statements from the following statements. 
   1.   Ahmedabad is known as the ‘Manchester of India’. 
   2.   Osaka is known as ‘Manchester of China’. 
   3.   River Yodo provides water to the mills of Osaka. 
   Code: 
   (a) Only 1    (b) 1 and 3    (c) 2 and 3    (d) 1, 2 and 3 
 
18. Which of the following are categorised as ‘Natural Fibre’? 
   1. Wool  2. Silk    3. Linen 4. Rayon 
   Code: 
   (a) 1, 2 and 3 (b) 2, 3 and 4    (c) 1 and 2    (d) 1, 3 and 4 
 
19. Which of the following lakes forms part of the ‘Great Lakes’? 
   1. Lake Superior 2. Lake Athabasca   3. Lake Erie   4. Lake Huron 
   Code: 
   (a) 1, 2 and 3   (b) 1, 3 and 4    (c) 2, 3 and 4    (d) 1, 2, 3 and 4 
 
20. Where was India's first textile industry established? 
   (a) Ahmedabad   (b) Surat    (c) Kolkata    (d) Mumbai 



 

21. Choose the correct statement from the following. 
   1.   TISCO steel plant is located near the confluence of Subarnarekha and Brahmini rivers. 
   2.   TISCO gets coal from Jharia coal fields. 
   3.   In pre-independent India, TISCO was the only iron and steel plant of the country. 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
22. Which of the following factors affect the population distribution? 
   1. Topography   2. Climate   3. Soil  4. Minerals   5. Culture 
   Code: 
   (a) 1, 2, 3 and 4    (b) 2, 3, 4 and 5 
   (c) 1, 2, 4 and 5    (d) 1, 2, 3, 4 and 5 
 
23. Which of the following statements is/are correct? 
   1.   The people who leave a country are called ‘emigrants’. 
   2.   The People who arrive in a new country are known as ‘immigrants’. 
   Code: 
   (a) Only 1    (b) Only 2    (c) 1 and 2    (d) Neither 1 nor 2 
 
24. The ‘Population Pyramid’ with a broad base and rapidly narrowing towards the top indicates? 
   (a) High birth rates and high death rates    (b) Low birth rates and low death rates 
   (c) High birth rate and low death rates    (d) Low birth rate and high death rate 
 
25. What is the relation between the population of a country and its economic development? 
   (a)  Huge population results in low economic development 
   (b)  Less population results in low economic development 
   (c)  Increase in population results in increased economic development 
   (d)  Increased population has no effect on economic development 
 
26. Consider the following statements. 
   1.   Technology is the application of latest knowledge and skill in doing or making things. 
   2.   The exclusive right on any idea or invention is known as Trademark. 
 Which of the above statements is/are correct? 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2 (d) Neither 1 nor 2 
 
27. Consider the following statements- 
   1.   Actual resources are those whose entire quantity may not be known and are not being used at 

 present. 
   2.   Wind energy presently is an actual resource. 
   3.   The uranium found in Ladakh, which is not in use presently, is also an example of an actual resource. 
   Which of the above statements is/are correct? 
   (a) 1 and 3   (b) 2 and 3    (c) Only 2    (d) All are correct 
 
28. Consider the following statements- 
   1.   Ninety percent of the world population occupies seventy percent of land area, while the remaining 

 thirty percent is either sparsely populated or uninhabited. 
   2.   The uneven distribution of population in different parts of the world is mainly due to varied 

 characteristics of land and climate. 
   Which of the following statement(s) is/are correct? 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
29. Consider the following. 
   1. Parent rock   2. Climate   3. Relief   4. Time   5. Flora and Fauna 
   Which of the following constitutes the major factors of soil formation? 
   (a) 1, 2 and 3    (b) 1, 2 and 4    (c) 1, 2, 3 and 4    (d) All 
 
30. The purpose of ‘Shelter belts’ is to check- 
   (a) Air pollution    (b) Soil erosion   (c) Noise pollution   (d) Excess water flow 



 

31. Which among the following are the methods of soil conservation? 
   1. Contour barriers   2. Intercropping   3. Mixed farming 
   4. Mulching    5. Terrace Farming 
   Choose the correct code. 
   (a) 1, 2 and 5    (b) 1, 2, 3 and 4   (c) 1, 2, 4 and 5   (d) 3, 4 and 5 
 
32. Consider the following statements- 
   1.   Lithosphere, Hydrosphere and Atmosphere are the major components of Biosphere. 
   2.   Ecosystem is the life supporting system 
   Which one of the above statement(s is/are statements correct? 
  (a) Only 1     (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
33. A natural area designed to protect the ecological integrity of one or more ecosystems is known 

as- 
   (a) National Park       (b) Wildlife Sanctuary   (c) Biosphere Reserve   (d) Ecological Corridor 
 
34. Which of the following statements is incorrect with regard to forest? 
   (a)  Forests are broadly classified as evergreen and deciduous 
   (b) Both type of forest are further classified as tropical and temperate 
   (c) Evergreen and deciduous type of forest shed their leaves in a particular season 
   (d) Forest cover all over the world is vanishing rapidly. 
 
35. Diclofenac, a major cause of decline in vulture population causes, damage to which body part of 

the vultures? 
   (a) Heart  (b) Kidney    (c) Lungs    (d) Brain 
 
36. Which of the following are the examples of Non-metallic minerals? 
   1. Limestone   2. Mica   3. Lead   4. Gypsum 
   Choose the correct option. 
   (a) 1 and 2    (b) 1, 2 and 3    (c) 1, 2 and 4    (d) All of the above 
 
37. The process through which the minerals near the surface are simply dug out is known as? 
   (a) Open-Cast mining (b) Quarrying    (c) Shaft mining   (d) Drilling 
 
38. Kalgoorlie and Coolgardie, the areas having largest deposits of gold are located in- 
   (a) Australia    (b) USA    (c) Brazil    (d) South Africa 
 
39. Consider the following statements. 
   1.   Wind is a non-conventional source of energy,which cause noise pollution. 
   2.   Biogas is an example of a conventional source of energy , which causes greenhouse effect. 
   Which of the above statements is/are correct? 
   (a) Only 1     (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
40. With reference to ‘distribution of minerals’, consider the following statements. 
   1.   Metallic minerals are generally found in igneous and metamorphic rock formations. 
   2.   Non-metallic minerals are found in the sedimentary rock formations. 
   3.   Coal and Petroleum are found in the sedimentary strata. 
   Which of the above statements is/are correct? 
   (a) 1 and 2     (b) Only 3    (c) 2 and 3    (d) All of the above 
 
41.   Choose the correct code matching List-I with List-II. 
   List-I                             List-II 
   A.  Sericulture                1. Grape Cultivation 
   B.   Pisciculture              2. Silk Production 
   C.   Viticulture                3. Gardening 
   D.  Horticulture              4. Breeding of fish 
   Code: 
   (a)  1-2-3-4    (b)  4-2-1-3  (c) 3-4- 1-2    (d)  2-4-1-3 



 

42. Choose the correct code matching List-I with List-II. 
   List-I                             List-II 
   (Shifting Cultivation)    (Place) 
   A. Jhumming                 1. North-East India 
   B. Milpa                         2. Malasiya 
   C. Roca                          3. Brazil 
   D. Ladeng                      4. Mexico 
   Code: 
   (a) 1-2-3-4   (b) 1-4-3-2    (c) 1-4-2-3    (d) 1-2-4-3 
 
43.   Which of the following activities are included in the Tertiary activities? 
   1.   Transport   2.   Trade    3.   Insurance    4.   Advertising 
   Code: 
   (a) 1, 2 and 3   (b) 1, 3 and 4    (c) 3 and 4    (d) 1, 2, 3 and 4 
 
44.   Choose the correct statement/statements from the statements given about organic farming. 
   1.   In this type of farming, organic manure are used instead of chemical fertilizers. 
   2.   In this type of farming pesticides are not used. 
   3.   Genetic modification is not done to increase the yield of the crop in this type of farming. 
   Code: 
   (a) 1 and 2   (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
45.   Choose the correct statement/statements from the statements given about intensive 

subsistence agriculture. 
   1.   This type of cultivation is done by the farmers to meet the demands of the market. 
   2.   Rice is the main crop in this type of cultivation. 
   3.   This type of agriculture is prevalent in the thickly populated areas of the monsoon regions of South, 

 South East and East Asia. 
   Code: 
   (a) 1 and 2    (b) 1 and 3    (c) 2 and 3    (d) 1, 2 and 3 
 
46.   Choose the correct statement/statements from the statements given about Primitive 

 Subsistence Agriculture. 
   1.   Primitive Subsistence agriculture includes both Shifting Cultivation and nomadic herding. 
   2.   Shifting Cultivation is also known as ‘Slash and burn’ agriculture. 
   3.   In Nomadic herding, after the soil loses its fertility, the land is abandoned and the cultivator moves to 

a new plot. 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
47. Choose the correct statement/statements from the statements given about Commercial 

Farming. 
   1.   In Commercial farming production is done keeping in view the demands of market. 
   2.   It requires large area and large amount of capital. 
   3.   Most of the work is done by machines in this. 
   4.   Mixed farming and plantation agriculture are included in commercial farming. 
   Code: 
   (a) 1, 2 and 3   (b) 2, 3 and 4    (c) 1, 3 and 4    (d) 1, 2, 3 and 4 
 
48.   Mixed farming means- 
   (a)  Agriculture and rearing livestock      (b)  Growing two crops together 
   (c)  Growing two crops in a field in different crop cycles.    (d)  None of the above 
 
49.   Which of the following crops are the example of Plantation Farming? 
   1. Tea 2. Coffee   3. Cashew   4. Rubber   5. Banana 
   Code: 
   (a) 1, 2, 3 and 4   (b) 1, 2, 3 and 5   (c) 1, 2 and 3    (d) 1, 2, 3, 4 and 5 
 



 

50. Choose the correct statement/statements from the statements given about Plantation Farming. 
   1.   This type of farming requires large amounts of labour and capital. 
   2.   Development of transport networks is essential for such farming. 
   3.   The main regions for this farming are found in the temperate regions of the world. 
   Code: 
   (a) 1 and 2   (b) 1 and 3    (c) 2 and 3    (d) 1, 2 and 3 
 
51. Which of the following state(s)  touch(es) both international boundary and sea coast? 
   1. Gujarat    2. West Bengal   3. Manipur  
   Code: 
   (a) 1 and 2   (b) 1 and 3    (c) 2 and 3    (d) 1, 2 and 3 
 
52. The Union Territory of Puducherry fall in three Indian states with different names. So, match the 

following pairs- 
   1. Yanam - Odisha    2. Karaikal - Tamil Nadu   3. Mahe - Kerala 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
53. Arrange the following African Countries from North to South- 
   1. Sudan    2. Ethiopia    3. Tanzania    4. Zambia  
   Code: 
   (a) 1-2-3-4    (b) 1-2-4-3    (c) 2-1-3-4    (d) 2-1-4-3 
 
54. Red Sea borders with which of the following countries? 
   1. Jordan    2. Saudi Arabia    3. Yemen 
   Code: 
   (a) 1 and 2    (b) 1 and 3    (c) 2 and 3    (d) 1, 2 and 3 
 
55. Choose the correct statement/ statements from the following- 
   1.   India’s West-East stretch is comparatively more than its NorthSouth stretch. 
   2.   India’s Standard Meridian Line also passes through Bhutan. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
56. Choose the correct statement/statements from the following- 
   1.   The young fold mountains lie in the north-west, north and north-east boundaries of India. 
   2.   The latitudinal extent influences the duration of the day and night from south to north. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
57. The southernmost point of the Indian Union was- 
   (a) Indira Col   (b) Indira Point   (c) Kanyakumari   (d) None of these 
 
58. The Palk Strait is between which of the following countries- 
   (a) India - Sri Lanka   (b) India - Bangladesh   (c) India - Pakistan   (d) India - Maldives 
 
59. Arrange the following mountain ranges from north to south- 
   1. Ladakh range    2. Zaskar range   3. Shiwalik range 
   Code: 
   (a) 1-2-3    (b) 2-3-1    (c) 2-1-3    (d) 3-2-1 
 
60. Arrange the following mountains/hills from north to south- 
   1. Mahadeo hills    2. Cardamom hills    3. Nilgiri hills 
   Code: 
   (a) 1-2-3    (b) 1-3-2    (c) 3-2-1    (d) 3-1-2 
 
 
 



 

61. Choose the correct statement/statements from the following- 
   1.   When plates come closer to each other, then they form divergent boundaries. 
   2.   When plates move away from each other, then they form a convergent boundary. 
   code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
62. Which of the following regions are included in the large Gondawana landmass- 
   1. India    2. Australia    3. North America    4. South Africa 
   Code: 
   (a) 1, 2 and 3   (b) 1, 2 and 4    (c) 2, 3 and 4    (d) 1, 2, 3 and 4 
 
63. Choose the correct statements from the following- 
   1.   The Northern Plain is formed of alluvial deposition. 
   2.   Peninsular plateau is composed of igneous and metamorphic rocks. 
   3.   The Himalayan mountain ranges have high peaks, deep valleys and fast flowing rivers. 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
64. Himalaya Mountain is an example of- 
   (a) Block mountain   (b) Fold mountain   (c) Fault mountain    (d) None of the above 
 
65. The longitudinal valley lying between lesser Himalaya and the Shiwaliks are known as- 
   (a) Dun    (b) Doab    (c) Delta    (d) Marg 
 
66. Match the following 
   List-I                                       List-II 
   A. Punjab Himalaya            1.  Between Satluj and Kali rivers 
   B.   Kumaon Himalaya        2.  Between Sutlej and Indus rivers 
   C.   Nepal Himalaya            3.  Between Tista and Dihang rivers 
   D.  Assam Himalaya           4.  Between Tista and Kali rivers 
   Code: 
    (a)  1-2-3-4   (b)  2-1-4-3    (c)  2-1-3-4    (d)  1-2-4-3 
 
67. Choose the correct statement/statements related to Shivalik mountain ranges- 
   1.   It is the innermost range of the Himalaya. 
   2.   This range is formed by the unconsolidated sediments brought down by rivers. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
68. Which of the following mountain ranges are in lesser Himalaya or Himachal Himalaya- 
   1. Dhaula Dhar    2. Mahabharat    3. Pir Panjal    4. Ladakh 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1, 2 and 3    (d) 1, 2, 3 and 4 
 
69. Which of the following hills are included under the Purvanchal or Eastern hills. 
   1. Patkai    2. Naga    3. Mizo     4. Manipur 
   Code: 
   (a) 1, 2 and 3   (b) 2, 3 and 4    (c) 1, 3 and 4    (d) 1, 2, 3 and 4 
 
70. Which of the following river systems have formed the northern plain of India? 
   (a) Ganga and Indus     (b) Ganga, Indus and Brahmaputra 
   (c) Ganga, Yamuna and Brahmaputra   (d) Ganga, Kaveri and Krishna 
 
71. Choose the correct statement/statements from the following- 
   1.   Chilika lake is the largest fresh water lake in India. 
   2.   India’s only active volcano is situated in Barren Island of Lakshadweep. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 



 

72. Choose the correct statement/statements from the following- 
   1.   Laccadive, Minicoy and Amindivi are parts of Lakshadweep group. 
   2.   The Pitli island is an uninhabited island of Lakshadweep, which has a bird sanctuary. 
   Code: 
  (a) Only 1   (b) Only 2    (c) Both 1 and 2    (d) Neither 1 nor 2 
 
73. Which of the following is/are included under western coast- 
   1. Kannad Plain    2. Malabar Coast    3. Northern Circar    
Code: 
   (a) 1 and 2   (b) Only 2    (c) 2 and 3    (d) 1, 2 and 3 
 
74. ‘Barchans’ formations are related with- 
   (a) Plains    (b) Coast    (c) Island group   (d) Desert 
 
75. Which of the following are the examples of fresh water lake- 
   1. Wular lake    2. Dal lake    3. Bhimtal lake     4. Barapani lake 
   Code: 
   (a) 1, 2 and 3   (b) 1, 3 and 4    (c) 2, 3 and 4  (d) 1, 2, 3 and 4\ 
 
76. Which of the following rivers are the tributaries of the Brahmaputra? 
   1. Dibang    2. Lohit   3. Kenula   4. Purna 
   Code: 
   (a) 1 and 2    (b) 1, 2 and 3    (c) 2, 3 and 4    (d) 1, 2, 3 and 4 
 
77. Which of the following rivers are the tributaries of the Krishna? 
   1. Koyana    2. Bhima    3. Musi    4. Manjra    5. Ghatprabha 
   Code: 
   (a) 1, 2 and 3   (b) 1, 2, 3 and 4    (c) 1, 2, 3 and 5   (d) 1, 2, 3, 4 and 5 
 
78. Consider the following statements- 
   1.   Western Coastal Plain of India is relatively narrow. 
   2.   Water present on the surface is the largest source of clean water. 
   Which of the above statements is/are correct? 
   (a) Only 1    (b) Only 2     (c) Both 1 and 2   (d) Neither 1 nor 2 
 
79. Choose the correct statement/statements from the following- 
   1.   Tapi river flows in a rift valley. 
   2.   The basin of Tapi covers states of Madhya Pradesh, Gujarat, Telangana. 
   Code: 
   (a) Only 1    (b) Only 2     (c) Both 1 and 2   (d) Neither 1 nor 2 
 
80. Arrange the following rivers from north to south- 
   1. Penganga river    2. Mahanadi river    3. Tungabhadra river    4. Krishna river 
   Code: 
   (a) 1-2-3-4    (b) 2-1-4-3     (c) 2-1-3-4    (d) 2-4-1-3 
 
81. Which of the following lakes are located on the eastern coast of India- 
   1. Chilika lake    2. Kolleru lake    3. Pulicat lake    4. Lingamakki lake 
   Code: 
   (a) 1 and 2    (b) 1, 2 and 3    (c) 1 and 3    (d) 1, 2, 3 and 4 
 
82. Which of the following factors affect the drainage patterns of any area? 
   1. Slope of land    2. Climatic conditions    3. Underlying rock structure 
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3   (d) 1, 2 and 3 
 
 
 



 

83. Choose the correct statement/statements from the following- 
   1.   When tributaries meet main stream or river at approximately right angles, then develops a 

 rectangular drainage pattern. 
   2.   A rectangular drainage pattern develops where hard and soft rocks exist parallel to each other. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2    (d) Neither 1 nor 2 
 
84. Choose the correct statement/statements from the following- 
   1.   The Indus river rises in Tibet, near lake Mansarovar and flows eastward to enter India. 
   2.   The Zaskar, the Nubra, the Shyok and the hunza are the tributaries of the Indus. 
   Code: 
   (a) Only 1    (b) Only 2    (c) Both 1 and 2    (d) Neither 1 nor 2 
 
85. The factors controlling the climate of any place includes- 
   1. Latitude      2. Altitude      3. Pressure 
   4. Distance from the sea   5. Ocean currents     6. Relief features 
   Code: 
   (a) 1, 2, 3,4 and 5    (b) 1, 3, 4, 5 and 6    (c) 1, 2, 3, 5 and 6   (d) 1, 2, 3, 4, 5 and 6 
 
86. Choose the correct statement/statements from the following- 
   1.   Temperature generally decreases from the equator towards the poles. 
   2.   The Pressure and wind system of any place depends on the latitude and altitude of the place. 
   Code: 
   (a) Only 1     (b) Only 2     (c) Both 1 and 2 (d) Neither 1 nor 2 
 
87. Assertion(A): India’s climate has characteristics of both tropical as well as subtropical climates. 
   Reason(R): The Tropic of Cancer passes through the middle of the country. 
   (a)  Both A and R are correct, and R is the correct explanation of A. 
   (b)  Both A and R are correct, and R is not the correct explanation of A. 
   (c)  A is correct, R is wrong. 
   (d)  A is wrong, R is correct. 
 
88. In Asia, the monsoon type of climate is mainly found in- 
   1.   West Asia    2.   South Asia.   3.   South East Asia 
   Code: 
   (a) 1 and 2     (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
89. Choose the correct statement/statements from the following- 
   1.   In the Himalayas, precipitation is mostly in the form of snowfall. 
   2.   Tamil Nadu coast experiences most rainfall during October and November. 
   Code: 
   (a) Only 1     (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
90. Which of the following is/are correct with regard to  western cyclonic disturbance- 
   1.   It originates in the Arabian sea in the cold weather season. 
   2.   It affects the north and north-west region of India. 
   Code: 
   (a) Only 1     (b) Only 2    (c) Both 1 and 2   (d) Neither 1 nor 2 
 
91. Which of the following is/are correct with regard to  the InterTropical Convergence Zone (ITCZ). 
   1.   It is a zone of low pressure. 
   2.   This is where the northeast and the southeast westerlies winds converge. 
   3.   It moves north or south with the apparent movement of the sun. 
   Code: 
   (a) 1 and 2     (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
 



 

92. Which of the following place is the merging zone for the Arabian sea branch and the Bay of 
Bengal branch of Indian monsoon? 

   (a) Peninsular India      (b) Northeast India 
   (c) North eastern part of the Ganga Plains   (d) Nilgiri hills 
 
93. The pre-monsoon showers in kerala and Karnataka, towards the end of the summer season is 

known as- 
   (a) Mahawat    (b) Kaal Baisakhi   (c) Mango showers   (d) Red Rainfall 
 
94. In which of the following areas of India, Tropical rain forests are found? 
   1. Western Ghats.    2. Lakshadweep    3. Andaman and Nicobar 
   4. Assam     5. Tamil Nadu  
   Code: 
   (a) 1, 2, 3 and 4  (b) 1, 2, 3 and 5   (c) 1, 3, 4 and 5    (d) 1, 2, 3, 4 and 5 
 
95. Match the following 
   List-I                              List-II 
   A. Tropical rain Forests     1. More than 200  cm of rainfall 
   B.   Tropical moist deciduous   2.   70-100 cm  rainfall 
   C.   Tropical dry deciduous   3. 100-200 cm rainfall 
   D.  Thorn forests and scrubs 4.   less than 70 cm of rainfall 
Code: 
   (a)  1-2-3- 4   (b)  1-3-2-4  (c)  4-3-2-1     (d)  1-4-2-3 
96. Silver fir, junipers, pines and birches are the examples of which type of forests? 
   (a) Montane forest      (b) Mangrove forest 
   (c) Tropical rainforest   (d) Thorn forest and scrubs 
 
97. Choose the correct statements from the following statements related with Mangrove forests- 
   1.   Mangroves are the vegetation of coastal areas, which are influenced by tides. 
   2.   The roots of the Mangrove forests are submerged under water. 
   3.   Mangrove vegetation is found on the deltas of the Ganga, Brahmaputra, Mahanadi, Godavari, Krishna, 

 and Kaveri rivers. 
   Code: 
   (a) 1 and 2     (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
98. Arrange the following National Park from north to south- 
   1.   Kaziranga National Park    2.   Simlipal National Park 
   3.   Sanjay Gandhi National Park    4.   Bandipur National Park 
   Code: 
   (a) 1-2-3-4    (b) 1-3-2-4    (c) 1-4-2-3    (d) 1-2-4-3 
 
99. Which of the following countries have higher population densities, when compared to India? 
   1. Bangladesh    2. Japan    3. Russia  
   Code: 
   (a) 1 and 2    (b) 2 and 3    (c) 1 and 3    (d) 1, 2 and 3 
 
100.According to the census of 2001, a ‘literate’ person is- 
   (a)  Who is aged 7 years and can read and write with understanding in any language. 
   (b)  Who is aged 5 years and can read and write with understanding in any language 
   (c)  Who knows all the three; reading, writing and mathematics 
   (d)  Who can read and write in any age. 
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